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E’ﬂ if V is a vectsr space and x is am owbitrary ¢lememt o V,

+Hhen
(i) 0X =0
at) X+Y = o0 imfffé’.( y = =X

) (- x = -x
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V‘TZ[ Lot Vo, v, be n elements of a vedrr spad V

Then /S:.S;tmn(v;, e, V) s a subspace o V.

because + contams

preof . Obvieusly S s a nenempty sabset of V
Jerm Vo,V o+ o+, N oy any o(,,‘-‘-,ixhe'l‘R.
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To show that S 5 a subspace of \V/, we nad to show that
1) pVe S wiwmevex ve S and ¥V BelR
2) ViWe S whmevex Ve § and we S
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let BER be a scalar

Te shew that BV es,
be wriflem as a lineay

we rnwed o show +at ﬁV cam
combination of ¥, ., Vn. Buf
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Hence .S = spam (Vr= W) s a subspace of 'V -
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